
      14  800‐243‐1392      413‐668‐1100  Handcrafted in                        the USA                       mustangseats.com 

 

 
 
 
 
 
 
 
 

 
 
 
 
  
 
 
 
 
 
 
 

These steps are guidelines to help you install your new Mustang 
product. If you need further assistance, please call us at 800‐243‐1392 
or 413‐668‐1100, Monday through Friday 9:00 ‐ 5:30 Eastern or send 
an e‐mail to questions@mustangseats.com or visit our website at 
www.mustangseats.com. 
 
For care and maintenance of our seats, please go to our website 
under "Support".  
 
Refers to part number: 76990, 76991   
 

 
 
 
 

 
 
 

Harley-Davidson® 
FXR 1982-1994, 1999-2000 

Perewitz Signature Solo 

Hardware 
(Included): 

76990 (Hinge mounted) 
5/16”‐24 x ½” hex bolt x 4 

76991 (Frame mounted) 
White nylon washer x 2 
Chrome washer x 2 
5/16”‐24 x ¾” Allen bolt x 2 
Front mounting bracket 

Tools 
needed: 

SAE hex wrenches  SAE Allen and hex   
   wrenches 

 

Removal of Stock Seat: 

 

 
One‐piece:  
 
Remove rear fender screw and 
set aside.  Slide seat back and 
up to remove. 
 
 
Two‐piece: 
 
1. Unlatch solo and pivot up to expose hinge. 
 
2. Disengage plastic retaining clip on hinge, slide solo back to clear the 
hinge and remove. 
 
3. Remove rear fender screw and set aside. Loosen two front 
mounting bolts, and slide passenger seat back and up to remove. 
 
 
 



 32  800‐243‐1392      413‐668‐1100 Handcrafted in                        the USA                       mustangseats.com 

 
 

Harley-Davidson® 
FL Touring 2008-2014 

One-piece Seat 

 
Using the pocket: 
 

Note: Neither Mustang Motorcycle Products, LLC, or Jody Perewitz or 
Perewitz Cycle Fab make any representation or warranty, either 
express or implied, in association with the use or placement of any 
article in the seat pocket nor as to the possible breakage, loss or 
damage due to crushing, cracking or dropping of any article placed 
partially or fully inside the seat pocket. Place items inside the seat 
pocket at your own risk.  
 

1. Pull the ribbon out of the pocket and hold it along the center line of the 
seat. 
  
2. Place the object you are storing into the pocket, and allow it to push 
the ribbon into the pocket. 
 

3. To remove the object from the pocket, pull the ribbon gently, and use 
your other hand to prevent the object from falling. 
 

Enjoy the comfort and custom look of your new Mustang seat! 

 
 

Installation of Perewitz Signature Solo:  
 
76990 (Hinge mounted) 
 

1. Transfer the hinge bracket from the stock seat to the Mustang solo 
with the supplied bolts using a ½” hex wrench. Be sure it is mounted 
securely. 
 

2. Reconnect the hinge to the frame. Pivot the seat down onto the 
frame. 
 
 
76991 (Frame mounted) 
 

1. Using a ½” hex wrench, remove the two bolts and washers at the rear 
base of the fuel tank. 
 

2. Install supplied front mounting bracket to the tank with the stock 
bolts. Do not use the washers. 
 

 
 

3. Engage the seat’s front bracket into the mounting bracket. 
 

4. Position the two white nylon washers between the seat’s rear 
mounting brackets and the fender nuts. 
 

5. Place a chrome washer over each bracket, and secure with the 
supplied Allen bolts using a 3/16” Allen wrench. 
 
  
 



 32  800‐243‐1392      413‐668‐1100 Handcrafted in                        the USA                       mustangseats.com 

 
 

Harley-Davidson® 
FL Touring 2008-2014 

One-piece Seat 

 
Using the pocket: 
 

Note: Neither Mustang Motorcycle Products, LLC, or Jody Perewitz or 
Perewitz Cycle Fab make any representation or warranty, either 
express or implied, in association with the use or placement of any 
article in the seat pocket nor as to the possible breakage, loss or 
damage due to crushing, cracking or dropping of any article placed 
partially or fully inside the seat pocket. Place items inside the seat 
pocket at your own risk.  
 

1. Pull the ribbon out of the pocket and hold it along the center line of the 
seat. 
  
2. Place the object you are storing into the pocket, and allow it to push 
the ribbon into the pocket. 
 

3. To remove the object from the pocket, pull the ribbon gently, and use 
your other hand to prevent the object from falling. 
 

Enjoy the comfort and custom look of your new Mustang seat! 

 
 

Installation of Perewitz Signature Solo:  
 
76990 (Hinge mounted) 
 

1. Transfer the hinge bracket from the stock seat to the Mustang solo 
with the supplied bolts using a ½” hex wrench. Be sure it is mounted 
securely. 
 

2. Reconnect the hinge to the frame. Pivot the seat down onto the 
frame. 
 
 
76991 (Frame mounted) 
 

1. Using a ½” hex wrench, remove the two bolts and washers at the rear 
base of the fuel tank. 
 

2. Install supplied front mounting bracket to the tank with the stock 
bolts. Do not use the washers. 
 

 
 

3. Engage the seat’s front bracket into the mounting bracket. 
 

4. Position the two white nylon washers between the seat’s rear 
mounting brackets and the fender nuts. 
 

5. Place a chrome washer over each bracket, and secure with the 
supplied Allen bolts using a 3/16” Allen wrench. 
 
  
 



      14  800‐243‐1392      413‐668‐1100  Handcrafted in                        the USA                       mustangseats.com 

 

 
 
 
 
 
 
 
 

 
 
 
 
  
 
 
 
 
 
 
 

These steps are guidelines to help you install your new Mustang 
product. If you need further assistance, please call us at 800‐243‐1392 
or 413‐668‐1100, Monday through Friday 9:00 ‐ 5:30 Eastern or send 
an e‐mail to questions@mustangseats.com or visit our website at 
www.mustangseats.com. 
 
For care and maintenance of our seats, please go to our website 
under "Support".  
 
Refers to part number: 76990, 76991   
 

 
 
 
 

 
 
 

Harley-Davidson® 
FXR 1982-1994, 1999-2000 

Perewitz Signature Solo 

Hardware 
(Included): 

76990 (Hinge mounted) 
5/16”‐24 x ½” hex bolt x 4 

76991 (Frame mounted) 
White nylon washer x 2 
Chrome washer x 2 
5/16”‐24 x ¾” Allen bolt x 2 
Front mounting bracket 

Tools 
needed: 

SAE hex wrenches  SAE Allen and hex   
   wrenches 

 

Removal of Stock Seat: 

 

 
One‐piece:  
 
Remove rear fender screw and 
set aside.  Slide seat back and 
up to remove. 
 
 
Two‐piece: 
 
1. Unlatch solo and pivot up to expose hinge. 
 
2. Disengage plastic retaining clip on hinge, slide solo back to clear the 
hinge and remove. 
 
3. Remove rear fender screw and set aside. Loosen two front 
mounting bolts, and slide passenger seat back and up to remove. 
 
 
 


